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Questionl:-Consider the following Social Reformers

1. Ayyavu Swamikal

2. Sahodaran K. Ayyappan

3. R. Sankar

4. Nithya Chaitanya Yati

Who of the above is/are actively associated with the SNDP yogam

Getreu(pid Feps FTH(hSSeUTHmend &eetLmigeT
1. siwmey seumdlaer
2. sCargrer Gs. wLILIET
3. R smisy
4. Hlsw enggemul wg
Cuopaadweifsefieo wmy SNDP Guinsib o et $e7ors QST fLienLwiefaeT.
A:-(1) and (2)
(1) womib (2)
B:-(1), (2) and (3)
(1), (2) wpmid (3)
C:-(2), (3) and (4)
(2), (3) wpmib (4)
D:-(1), (2), (3) and (4)
(1), (2), (3) wpmID (4)
Correct Answer:- Option-C

Question2:-Match List : | with List : Il and select the correct answer with the help of
the code given below:

List : | List : Il
(a) Raja Ram Mohan Roy (i) Kesari
(b) Annie Besant (i) Sambad Kaumudi
(c) Kumaran Asan (iii) The Common Weal

(d) Bala Gangadhara Tilak (iv) Vivekodayam



Ll iguied leg Ll iquied Il o Ler Qur@psd, SCp QarGssiiulHiarer Gmuiliger o sellujLe
sflurer udlewaws CarbshHEseam.

L g | L g wie Il
(a) gregm gmd Gomsen Fmul (i) GCsarl
(b) <jerasfl Cuger (ii) gbug Gsearpd
(C) @Lorem gmen (iii) smoer Cleud
(d) ure ERIETST SHevsT (iv) e9CauGsmguwib
A:-(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
B:-(a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
C:-(a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

D:-(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
Correct Answer:- Option-D

Question3:-Arrange the following events chronologically:
(1) Kallumala Samaram

(2) Villuvandi Samaram

(3) Aruvipuram Siva Prathishta

(4) Vaikom Satyagraha

Select the correct answer from the code given below:

Yeeu(mLd BlsLpe seneT smeeuflengliLilg euflengliLi(hSHe| D
(1) seo@ieme FoFb
(2) elldayieuenTiy FLOFLD
(3) @mailyrid Heuldydlegent
(4) eweussd sSSwLTSlFanid
&Gy Car@&sliulHerer @Ol igallmbgl sflwrear Lfamas Coib6sHESD.
A:-(1), (2), (3), (4)
B:-(4), (3), (2), (1)
C:-(3), (2), (1), (4)
(1)

D:-(3), (1), (2), (4)
Correct Answer:- Option-C

Question4:-Which of the following is/are related to Sree Chithira Tirunal?
(1) Introduced Free Universal and Compulsory Education

(2) First Raj Pramukh of the Travancore-Cochin Union

(3) Brilliant Music Composer

(4) The first census of the state was conducted

Select the correct answer using the code given below:



Gevreu(meueaupiled avf Sy HmpmErLer CsT Ty wgl 6rg?

(1) @aeus 2 searmeflw LHMID S LTS 06N AN PSLILHSSILILL G|

(2) Smelgmiisnj-Carssl weflwefen (pse rre Grps

(3) ysdlemedlsseoner @ emawenLoLILITeT)

(4) wrlegdlen (P WESET CsTans HemslsHIL BLSSLILL L g

EC Qar@ssliul(Herer @Ot en 1 tweatu®gE sflwrer uameos Coib0sH &S0 M.
A:-(1) and (2) only

(1) womib (2)
B:-(2) and (3) only

(2) wpmib (3)

C:-(1), (2), (3)
(1), (2), (3)

D:-(1), (2), (3) and (4)
(1), (2), (3) wpmid (4)
Correct Answer:- Option-A

Question5:-Which of the following is/are related to the French Revolution?
(1) A watershed movement in modern-history

(2) The Siege of the Bastille

(3) Jean - Jacques Rousseau is consider the Father of Revolution

(4) Tennis Court Oath

Select the correct answer using the code given below:

Gemeumeuameummled et LAGFEhaL Lyl Sl e QGmFLenLuwig?

(1) pefen cugemHdled ep(m Bibleney QuIGHD

(2) umevig e (WPHMENS

(3) Ser-myrgeucv epGar Yyl duler Shangwnsd smsLiLIhE DTy

(4) QLanatlev Camil o mHGloml

&G Qar@ssliul(Herer @GOt en i tweatLhgd sflwrer uameos Coib0sHES6,LD.
A:-(1), (2) and (3)

(1), (2) wpmibd (3)
B:-(2), (3) and (4)

(2), (3) wpmd (4)

C:-(4) only
(4) L_(Hd



D:-(1), (2), (3) and (4)
(1), (2), (3) wpmid (4)
Correct Answer:- Option-D
Question6:-Current Director - General of Food and Agriculture Organisation.
sHCUTgW 2 ewre| LHmLD efleudm Sjenwlildler GlLrg @wid @y
A:-Kristalina Georgieva
SflevL_adlerm spmiadeum
B:-Qu Dongyu
SW), LTHIL,
C:-Achim Steiner
SFS D vy
D:-Sir John Boyd Orr.
&1 &omesT LML g1y
Correct Answer:- Option-B

Question7:-Which of the following statement is correct regarding the composition of
the earth's atmosphere?

Lludlerr euaflinarcvsdler swaneu CsrLfung Mereumb gmpmseaile erg sflwimeng

A:-Oxygen, the most important gas present in the atmosphere is very active in
the chemical processes of the physical and biological environment

auefloam_gdled QHE@GD W& WPSESWLLTET eumjeuTer 3 &edleeT, 2 L6 wHmid 2 udlfluie
Gpedler Coudlufwe CFwaeler dls CFwaled 2 drarg)

B:-The most abundant gas in the atmosphere is Hydrogen
auallar_gdler Fls jerelilehr SremriiL(Hd UM DL FE6T <,@LD

C:-The three constant gases in the atmosphere are Carbondioxide, ozone and
water vapour

cuelloaTL_agdled 2 eTar eLpeim HlenewImer eUTL&SET STFLcTenL_ <, dHemen(h, eGFmen
omid Hrmred
D:-Ozone is present in the troposphere
eCamen 14 CrmGumevdwfley o drerg
Correct Answer:- Option-A
Question8:-An example for metamorphic rock is
2 (HOTHOL LITEDDEE) 62(ThH 2 STITEHTLD
A:-Granite

Slrenest_



B:-Basalt
LI&TeOL_

C:-Quartzite
GeUMTL_engL_

D:-Limestone
FEOOTGHTTLDL| &8 60

Correct Answer:- Option-C

Question9:-Which among the following terms denote the periodic rise and fall of
water level in the World's seas and oceans?

2 fler HLOSET HMLD CUdRsLosald Bi L gder SeueuliGLrg o wiey wHMmID
aipFflevw GN&@L Q&me 6rg
A:-Waves
O MVHAT
B:-Tides
Curenevgser
C:-Currents
WO erCermL_L_misET
D:-Wind Surge
STMHMHEDV
Correct Answer:- Option-B
Question10:-The Bhakra Nangal multipurpose project is constructed on which river?
LUSITBRIGEH LOCHTES SILL LD 6Ths <4 mmled UL Ll (heTerg)
A:-Satluj
&g
B:-Ganga
SHBIGIT
C:-Yamuna
Wl (Lp @i
D:-Brahmaputra
GybygSrm
Correct Answer:- Option-A

Questionl1:-The source of four rivers in Kerala is given. Which of the following is
correctly matched?

Carermelled pren@ plsaflen < grrmiger Casrhssiiul(herarg). Werelmeuareuhdled erg



sflwurs CummbgSDs)
A:-Periyar - Peerumedu Plateau
Quilwumy - SEHCLEH S
B:-Bharathapuzha - Anamalai hills
LITFSLILLOIT - <},EDETLOEH 6V
C:-Kabbani - Agasthya hills
slefl - Sgevdw eaned
D:-Pamba - Sivagiri hills
LU - Heudlfl wevew
Correct Answer:- Option-B

Questionl2:-The latest Earth observation satellite launched by ISRO on November
2022.

BeubLiy 20226 @evGrmeured ereutiuil’ L slusHw Hell samsrentlli Qewpens Camar
A:-EQOS - 01
B:-EQOS - 03
C:-EOS - 06
D:-EOS - 04
Correct Answer:- Option-C

Questionl3:-Consider the following statements regarding the Macroeconomic
Stabilization Measures of economic reform programme in 19917
(i) Itincludes all those economic policies which intend to boost the aggregate
demand in

the economy.
(ii)) It includes all those policy reforms which have been initiated by the
government to

boost the aggregate supply of goods and services in the economy.
(iii) It includes policies for dismantling of the Administered Price Mechanism.

1991 @& QurmarmsTy SFHBSSS HLsHan CosCyr QuImermsTy o nAILEGSS®
BL_6Iq SM&SET QST LT LA6mal(hd NS SSeTd: &ou6ulL|BISeT.
i. Qrgss Cxmoum SHsMEs 2 GG sglemer Damanggll HuTmeTTSTrE
Q& TETanSHHEHLD @6 DL BiIGLD
ii. Qumrermsmygdle CummLger whpmbd Cameusatien Crss alHlCUTESMmS
S flEs DremhsssTeD G RSUIUL L mansg Csmerans ﬁj@@(&,gr&&@m
Gl 2L mi@Lb
iii. @& flfeudlssiiul L ellewe QuBdrsams DishmeugnaTear Clamaranssamer

2 eTeTL Sl Wwg)



A:-Only (i) and (ii)
(i) wpmd (ii) LI (Hb

B:-Only (i)
(i) w_(Hid

C:-Only (ii)
(i) b

D:-Only (ii) and (iii)
(i) womd (iii) LG
Correct Answer:- Option-B

Questionl14:-Consider the following statements on Green Revolution in India:
(i) Green Revolution led to environmental degradation.
(ii) Green Revolution enabled India to became self sufficient in food grains and
exporter of

agricultural commodities.
(iii) Initially Green Revolution was mainly directed to increase the production of
commercial

crops only.
(iv) Green Revolution resulted in growing interpersonal inequalities and inter
regional

disparities in India.
Which of the above statements is/are correct?

@ndwraier usemwl Hrlgl upmlu ereumd iHsmEEMeTs: &6t L bISeT:

I usewl il d spnsspd FrflesE aflaEiss)

ii. ugepL Yyl fwreng o awre| srefluniser whmibd Ceuermer LML s6T
gppiwgluilan Qipdur samailampe) e wé Celisg)

iii. rbusHe sl Yrldl psdlumen cuanila Ludf 2 pusHenw L (HLb
9FsflEs QussluLl L g)

iv. ugenoll Yyl Suler elenereurs @bdlwimeiler salbUl FHDSSTHESET HMILD
Gy wmisEnseE Qe Cuwrer Ceaumumhiser aleTihgl el armer.

CuCe 2 drer sapmigatiich erg)/erencu Filwimeng

A:-Only (i), (ii) and (iv)
(i), (ii) wpmid (iv) LI (HLbd

B:-Only (i)
(ii) @b

C:-Only (i), (i)
(i), (ii) U@

D:-Only (iii)



(iii) wL_(Hd
Correct Answer:- Option-A

Question15:-Which of the following is/are the schemes launched in India with a
vision of extending the coverage of irrigation and ensuring more crop per drop of
water in agriculture?

(i) Paramparagat Krishi Vikas Yojana

(ii) Pradhan Mantri Krishi Sinchayee Yojana

(iii) Pradhan mantri Fasal Bima Yojana

(iv) Biotech Kisan Scheme

SpssaT_aupdld ageramar @rSLTeld Lirsan Lriou feLBEsS® HHID
efleugmugdled e Qam_(h serent(HsH@ uds elemerdgane o mifl Qe Crrd @ et
Qarmslul L Sl L niger?

i, LipbLnss Sfla clsa Cuimger

i. Gygren wHHM &fladl &epeul Guimsert

iii. Qrrgen LHAHR ooLiged Som GuirsgerT

iv. LGWNQAL & Hsrer AL i

A:-Only (i) and (iv)
(i) wpmid (iv) LI (Hb

B:-Only (i)
(i) (Wb

C:-Only (ii)
(i) w_(Hwb

D:-Only (ii) and (iii)
(i) womd (iii) LI HLD
Correct Answer:- Option-C

Question16:-Which of the following statements is/are correct about GST?
(i)  GST is multistage destination based tax.
(ii) Import of goods or services would be treated as interstate supplies and would
be
subject to Integrated GST.
(iii) GST will mitigate the ill effects of cascading of taxes.
(iv) Prime Minister of India is the chairman of GST Council.

sdlerevlg. LIHM lleeumd Hlsamasailen ergi/erencu flumens)?

i. sjlereivlg. 6T LI SLL @Qev&E ligliien_udlemer eurfl

i, QumrmLlser g Coamausailer @QnE@GLSwTarg) wrHlenisEhs@ @ GCuiwire
MBCWsRISTTSS SMHSLUILMHID OHMILD eHEISmahS sleTeviqd@ o L L L g



iii. eflerevig, eulsefien aipaflulen Sw elleneare gamens Seanllad ng
iv. @bSlwls Wpsor slerevly s enFledler saneavou
A:-Only (i)
(i) o (Hw
B:-Only (i), (ii) and (iv)
(i), (ii) womd (iv) LLHIWD
C:-Only (ii) and (iii)
(i) wHmid (i) LG
D:-Only (i), (ii) and (iii)
(i), (i) wpmd (iii) wLHb
Correct Answer:- Option-D

Questionl7:-Which of the following is/are wasting assets?
(i)  Minerals

(ii) Solar and Wind energy

(iii) Forest and Wildlife

(iv) Water

Getreu(Heuaeupiled ergl/eTeneu Camgens eienmé @S na)?
i. Seflrhiger
ii. Gflw LHMID STOHH <HHE
iii. sm{H LHMILD cuaTellevnIE
iv. By
A:-Only (i)
(i) L
B:-Only (ii) and (iv)
(ii) womibd (iv) (b
C:-Only (iii)
(iii) w1
D:-All the above (i), (ii), (iii) and (iv)
CuCe 2 drer Syemansgid (i), (ii), (iii), (iv)
Correct Answer:- Option-A

Questionl18:-Which of the following is/are a NITI Aayog initiative under Aspirational
Districts programme aims to provide home care to COVID 19 patients?

(i) Saksham Bitiyan Abhiyan

(i)  Surakshit Hum Surakshit Tum

(iii) Pradhan Mantri Suraksha Bima Yojana

(iv) Ayushman Sahakar Scheme



Gevreu(meueauhiled erg/erene el 9CTageame 1qevlflélev L gHem S e NITI
<2Gwns (e pwplwrerg COVID 19 Crrumeflsens@ eI (Bl LTl epkiGelams
Crrésonss Qstar(erars?

i. soaglb 191 imer SISwimen

ii. siangd anld 7o S

iii.Aygrer wHHF srgeur Swr Cumgerr

V. QLUegLDTeN F&&T I L LD

A:-Only (i) and (ii)
(i) wopmd (ii) (P
B:-Only (ii)
(ii) L (Hw
C:-Only (iii) and (iv)
(iii) wHmd (iv) LD
D:-Only (iv)
(iv) m_(Hwd
Correct Answer:- Option-B

Questionl19:-Identify the true statements with regard to the fundamental rights in
Indian Constitution

(1) Article 14 is available only to citizen of India

(2) Article 19 is available to any person on the soil of India

(3) Article 25 is available to any person on the soil of India

(4) Article 28 is available to any person on the soil of India

@BSlw Srflweenolibe 2 6rer g litien 2 Fe&6T CGTLFLITET 2 renLn
DD EMSHMET D@L_LITATLD SHTETELD
1. 9fley 14 @pSlu GgsasEE LLHIGCW ol sEL
2. Wfley 19 @BSw werantley 2 eTer eTaU(hEEGHD Flenl &@EWD
3. 9fley 25 @Bdlw werranfleh 2 6Tem eTaUHSEGWD HepL_&@LD
4. Gfley 28 @B WeTantld 2 6TeT eTeu(HEGHD FlanL &ELW
A:-(1) and (2)
(1) womib (2)
B:-(2) and (4)
(2) womib (4)
C:-(1) and (4)



(1) wpmw (4)
D:-(3) and (4)
(3) wHmid (4)
Correct Answer:- Option-D

Question20:-The establishment of All India Khadi and Village Industries Board is
related to -

Sl @BSw &1l womib Hrmos CQgrde eaurflusams Bne|jeig CsrLFureag)
A:-Article 40 of Indian Constitution

@pSu sirflweenoliber Wiley 40
B:-Article 42 of Indian Constitution

@pSu sirflweenolnder Wifley 42

C:-Article 43 of Indian Constitution
@B rfweeawiier Wifley 43

D:-Article 45 of Indian Constitution
@S rHweewiiber 9fley 45

Correct Answer:- Option-C

Question21:-Which among the following is a ground for impeachment of the
President of India?

Yetrelpeuareupiled ergl @Bdw semmdudeanw Lgedl Bésn CFlicugDETET STFamTD?
A:-Violation of the constitution
@& wevenol e Wmed
B:-No Confidence of the legislature
gl Lempgdlen g BOLAGmE @Qdame
C:-Dissatisfaction with the cabinet
SjeFsrenel g oiHmLid
D:-All of the above

CuGe 2_6TeT SenarsgID

Correct Answer:- Option-A

Question22:-Find out the wrong statement with regard to the office of Governor
(1) Governor is a part of state legislature

(2) Governor has powet to appoint judges of state high court

(3) Governor has power to nominate members to state legislature

(4) Governor has power to appoint his council of ministers

SEUTETT DHQIGUOEHD CISTLFLITET SeUDTET HMEMEEMUIS FHewTL_HULleLD

1. oEmBi brble FLbatnSSle e LGS



2. wrfle 2 wi BHwern SHubsemer HlwLslEs <,@HEHSE AHSTILD 2 6rerg|

3. wrBle #LU CuremalsE, e muibearisamer HILILNGS oL EhBHESE ASETTLD 2 6Terg)
4. geng) wHIF semUmW HlULSES 2 @HBHESG ASISTTD 2 6Terg)

A:-(1)
B:-(2
C:-(3
D:-(4)

Correct Answer:- Option-B

)
)

Question23:-Who among the following is the Chairperson of GST Council?
Yemeu(meuameumled sjleTevly. &eersladlen Senevally wimy?

A:-Prime Minister of India
@St 9rswor

B:-Finance Minister of India
Qbdu A iewss

C:-Union Minister of State (Finance)
rble @enent Senw&sy ()

D:-A person elected from the members of GST council
shlerevlg. Sejerdled o mugenisafler @ mBE CoiHols(HSSILLL e(HaeuTF

Correct Answer:- Option-B
Question24:-In which year the special status of Jammu and Kashmir was revoked?
THS AeT(h YL SraplSilen ALy SBSevg 1g GFiwtiul’Lg?

A:-2017

B:-2018

C:-2019

D:-2020

Correct Answer:- Option-C
Question25:-Name the rescue operation of Kerala police during Kerala floods 2018.
Caiyerm Gleuererd 2018-er Cungy Carer smeudgenpulilen B L BLeulgdens QLTS
@OILEIL6eyLb

A:-Operation Jalaraksha
2, LICTag60T DTS

B:-Operation Rahath
2LGTagen rang

C:-Operation Karuna



< LICTag6 &(mewTT
D:-Operation Madad

< LCTag6 mL L
Correct Answer:- Option-A

Question26:- is a unified mobile app developed by Kerala State IT Mission
that offer 100 e-services from 17 different state departments?

eraigl Caper ble FaHeue CsmPld HL L QUsGSSSTE 2 (heumssLliLL L 6
mESmanhs creud Clewued @b, Qg 17 deuciGaum wrblas gammsatadlmnbs)
100 e-Geaneusemner aulpmiGHmg.

A:-MAPATHON Kerala
MAPATHON CGaryerrm

B:-MKeralam
MKeralam

C:-ESMS
ESMS

D:-GIMS
GIMS

Correct Answer:- Option-B

Question27:-Doctrine of is responsible for judicial control over
administrative actions.

Camur® Hlieuns pLeulydamssaiar smear HdHsgenm sl Hriumigns

CummLiLmELD.

A:-Judicial Review
bélsgimm <yl

B:-Rule of Law
sl gSlear eg

C:-Delegated Legislation
Grdlbldlsgien s b

D:-Separation of Powers
SFlsmrasamert iflgse

Correct Answer:- Option-B
Question28:-Official Language Legislative Commission is situated at
SSlarriy el Qomgl &L QLea@TLD eNLDBEIETeTS)

A:-Kollam

Q&TELLD



B:-Pathanamthitta
LSS LT
C:-Thiruvananthapuram
Sl paouabs L
D:-Kozhikode
Cam&Csm(h
Correct Answer:- Option-C

Question29:-Institute for Watershed Development and Management Kerala is
situated at

Cayermellen Bibleney Cobum® whmid Coerarentd HlnieUeTd enLbgleTerg
A:-Ottapalam

6L L_LILIMTGOLD
B:-Chadayamangalam

F60L_WILDMHRIGEILD

C:-Varapuzha
QUL

D:-Pappinaseri
urtYe Caifl

Correct Answer:- Option-B

Question30:-On which of the following grounds, the validity of delegated legislation
cannot be challenged?

Epsa oihg Sl uie, GrdHldsgien &L sder GFoaiuigamu Feumed GlFuiwl
Plwrg!?
A:-Unreasonableness
Blumuwnnm Serento
B:-Arbitrariness
ST FENFULITETF)

C:-Malafides

LDV Mo 060 LI (N &ET

D:-Violation of the principles of natural justice
Quipens BHuller Qamarangsamer WBmge
Correct Answer:- Option-D

Question31:-Name the project started by the Kerala government for the
rehabilitation of unwed mothers and their children.

S (HLOETLOIETS STULTTSET LHMID HeUFSHaTaT GLPHENSSHET MM &EETES CHTeT Fs



Qam_mdlwjerer L sHler uwenys @GOILELa|b.
A:-Snehita
NG
B:-Snehasparsham
avCEsevLIFagLD
C:-Asraya
S| GIUIT
D:-Snehahastham
L CHEADEVSLD
Correct Answer:- Option-B
Question32:-The present chairman of Kerala State Administrative Tribunal
Garer wrble Hlfeurs Srluumugder sHCLTEMSWL Sameoeur
A:-C.K. Abdul Rehim
C.K. <itigied Qrablid
B:-P.K. Keshavan

P.K. Cageuc

C:-M.K. Zakir
M.K. sordliy

D:-Benny Varghese
Quertef eufdeiv
Correct Answer:- Option-A

Question33:-Name the health insurance plan and accident death coverage for the
guest workers in Kerala.

Garermeiley 2 arar ellpHHery GgTflomarjas@psasrer o Ldpad SIS (HEG S LD wHmib
alusg @muiy seuCrsy < pdlueimenms @GOG ab.
A:-Niyukti
Hlwsg
B:-Kaivalya
MSEIEOWIT
C:-Awas
<3}, EMeEN
D:-Ayush
2y

Correct Answer:- Option-C



Question34:-In 2005 a new employment availability scheme has subsumed the
Food for Work programme in rural India. Which was that programme?

2005 @ev e LSl Cauenav eumiitinyg Sl b Slymoliym @pdlwreld Couenerdsmer
2 are|S S LSS 2 aTeT_sdlwgl. Abs Hlsns erg)?

A:-SRGY

B:-RLEGP

C:-TRYSEM

D:-MGNREGA

Correct Answer:- Option-D

Question35:-The Protection of Women from Domestic Violence Act was enacted in
the year

G&ObU cuspenpuiled(HBbg ClUmsmeT UTGISTEEGD FLL D @uHDLUILIL L 6
A:-2004
B:-2005
C:-2006
D:-2007
Correct Answer:- Option-B

Question36:-The first Kudumbasree neighbourhood group for transgenders in Kerala
is known as

Cayermelled Sl(HBBIMEEEHSHTET (LPHE @&HLDLGT AT & @ T HMLPSSLILI(Houg)?
A:-Thelima

Ggadm
B:-Thalir

ol
C:-Mazaville

warelleGev

D:-Manaswini
L06oT6 69 6o

Correct Answer:- Option-D
Question37:-Which statement is incorrect?
THS DADEGMS Hoummeng)?

A:-Cholera is caused by a bacterium
STOIT (1 LITdle flLgsmed grhLhidmg

B:-Measles is caused by a virus
S L IDEnLD 6(h enauravmed eFMHLI(hHEImg



C:-Malaria is caused by a bacterium
LCRlwT @ ursleflwussmed ghuB S ns
D:-Ringworm infection is caused by a fungus
FmGeuryd QETHMm 6 L @henguwimed erHu(hHiEmg
Correct Answer:- Option-C

Question38:-"Umami" is a
"Umami"' GTETLIGI 62(Th

A:-Part of cerebellum
Smepenerudlen L@

B:-Sense of taste

FMCU 2_GWTTA
C:-Retinal ganglion
QL igemmed Casmhidedlwier
D:-Muscle stretch reflex
geng BLig 1L flosLiGlemden
Correct Answer:- Option-B
Question39:-Read the statements given below and identify the correct option.
(i) Rickets in man is due to the deficiency of calciferol
(ii) Perinicious anemia in man is due to the deficiency of cynacobalamin
(iii) Pellagra in man is due to the deficiency of retinol
(iv) Beriberi in man is due to deficiency of Vitamin 5.
&G Car@&sliul(Herer SPGamasameri Ligsgl, Fflwmear e(mLLSmS 6L WITeTLD
HTETELD.
i. sl Lurmed Gempurh sTrerTons ellgsamisa, fatslov ghubhdlns)
i. wafllsed@ uilafdwua aftlwr, agarGasTumaiier @emum L me
FHUB DG
iii. wefgais@ umensyr, Gyl Cearme Geapur@h srrarons eFHu(HiEng
iv. emeul_L e 91 @eppum( sryenrons welsasE uflufl ghuBhdns
A:-All are correct
SDATSFID FFlLTETEna
B:-Only (i) is correct

(i) GG FflwTag)

C:-(i), (ii) and (iv) are correct
(i), (ii) wHm (iv) sflureTene



D:-Only (iii) is correct
(iii) L HCw Fflwureg)
Correct Answer:- Option-C
Question40:-Gigantism is a condition
Sl & meuTiq FLD 6T (T HlUbSen e
A:-Caused by excessive secretion of somatotropin
CarorGLm_Grmler <dswns srliugmd ghuBhdng)
B:-Caused by hyposecretion of TSH
TSH @er enaniGUTCgsflagenmed eFHuBHiEmg
C:-Caused by excessive secretion of Prolactin
LGrrensiyer Siflswns srliusred gnuBEng
D:-Caused by excessive secretion of gonadotropin
CaremGLr_Crmien oiflswrs sriusme goubSng
Correct Answer:- Option-A
Question41:-From the following identify the green house gas.
1GemeumeuareuHHIedl (BB LIGFEMD @)6D6d GUMLIENE D{EDL_UITETLD HTEmTeLD
A:-Helium
anedlwiLd
B:-Oxygen
<, &ele
C:-Methane
B&CH et
D:-Sulfur Oxide
FOLIT 250 &F(h
Correct Answer:- Option-C
Question42:-Normal systolic pressure of a healthy person is
<, Crradlwrer pUfler @uicoLimer Fevlmeld (PSS
A:-80 mm Hg
80 LIS er&a

B:-100 mm Hg
100 WS eréel)

C:-180 mm Hg
180 WIS eréel)

D:-120 mm Hg



120 818 erésd)

Correct Answer:- Option-D
Question43:-Svante Paabo got nobel prize in Physiology 2022 for discovery of
Svante paabo 2022 «<y1b @yerighsnrer 2 Laluied Crrud Liflens
sar(HLy S55DSTS CLHDTT.

A:-Receptors for temperature and touch
Qeutiubleney wHMILD QFTHSVISSHTET 6FHIGSeT

B:-Hepatitis C virus
CanueL igev & eeuren

C:-Previously unknown hominin, Denisova
ey Smwititi g GCanmdlefer, CLeflCameur

D:-How cell sense and adapt to oxygen availability
Oged 2 amTyge LHMID YEHNET HanL_&@GL SemenLo

Correct Answer:- Option-C

Question44:-'Break the chain' campaign is related to prevent the spread of
'"ACGrs g Qeulen' 9ygemyD urejelanss SHLILG CsmLFurerg.
A:-Rabies virus
Cridlenv eneuren
B:-Monkey pox virus
OIS LITSE eneu Fen
C:-Hepatitis B virus
ClamLienL g6 4 eeuren
D:-None of these
@emal eTgla|b @deama
Correct Answer:- Option-D

Question45:-Which among the following universal constants has the dimensions of
angular momentum?

YemeumLd 2 egermelilw rdledsatieh erg Camant 2 HesSlem LIFlDTETHISMm6TE
Csresr(heTerg)?

A:-The velocity of light
gatluflen Fleng Cousld

B:-The Boltzmann's constant
CuméL_evGefler wmmdled

C:-The Plank's constant



e mmled

D:-The Bohr magneton
Cuny &THSSLD
Correct Answer:- Option-C

Question46:-Light exhibits both the wave-like and particle-like characteristics. The
particle nature of light is revealed in

gafl, Sjeme Cumemp HMID giger Curemm @\ LaTLsamer CeuallliLihsgidng. eeatluden
1561 @uicv GeualLiuBgsLiLI(Heugl

A:-Polarization
SIGLIRTIOR: 08

B:-Photoelectric effect

gatldler ellenara]

C:-Kerr effect
Q&7 efleneray
D:-Interference
G0
Correct Answer:- Option-B

Question47:-Let "F" be the gravitational force of attraction between two objects.
What will be the gravitational force between these two objects if the mass of one
object is doubled and the distance between them is reduces to half of its initial
value?

"F" eremmuig) @ rewr(h Qummlsens@ QG o drer Ll eflenduwimss @) mEsL(HLD. e(m
Qumrmeafler Blenm @riigliLimdl, Seupmisdlen_Cuiwimer gD iHem <pToL S
LUmTHWnss Gamnbsre, Qg @ e CurmLlsErs@h @eaLCu o érer FilL ellans
CTEINEUTGUTSES @) (H&@LWD?

A:-2F

B:-4F

C:-8F

D:-16F

Correct Answer:- Option-C

Question48:-The India based Neutrino Observatory project (INO) is proposed in
2019. In which place the INO research facilities are established?

@ndwreney SjgliumLwnss Camer Hlu,l fNCerm sarsrentliy b (INO), 2019 G\
perCmAwiulL g bs @LsSled INO rmiss eusdlser eHu(hSsLILL (heTarer

A:-Theni, Tamilnadu



Coel, sOIDBTH
B:-Kotta, Rajasthan
CamiLm, gregevgme
C:-BARC, Mumbai
BARC, pibenL
D:-Mount Abu, Rajasthan
LDGGHTL SiL|, FTERGVSTE0T
Correct Answer:- Option-A

Question49:-Which of the following electronic configuration does not obey Hunds
rule of maximum multiplicity?

YeTeu(mHLD eTe&L_FTelld 2 eTamenloesetle) HFSLLFD aneT 6b LeTLpasS6Tenld clldlsEs

EpliLigeudlbenay
A:-[AL]
B:- o] ]
c:-L[7¢] @E
D4

Correct Answer:- Option-B
Question50:-Elements with outer electronic configuration sz are

Qeuefliyp Wlenaaml &L L enLoLiL| ns2rssGlEmesTL Seflold

A:-Alkaline earth metals

sy Ll o Georgmiser

B:-Transition elements
LOMTMISE FoMIGHET

C:-Chalcogens
&ML CH TGS ET

D:-Noble gases
2 GGG GUMU|&HEHET

Correct Answer:- Option-D
Question51:-Which statement is correct?
ThS Fndml Ffluimeng,?

A:-nH0H S @ strong base

NH40H (T GUGYIGUTET STIFLD

B:-cuzcoona gives acidic solution in water



CH;COONa GelTEm 11eb 2iLlevd senraamed SieflsSma

C:-cHscooH is a weak acid

CH3COOH 6(Th LIS a6 <{LOlevLd

D:-nu.c1 gives alkaline solutino in water
NH,Cl GRrentifled HM7é samreane el g
Correct Answer:- Option-C
Question52:-Nobel Prize winners in chemistry 2022
Caudluflwiedler 2022-60 Cpmued Lfla QupHmelFser
A:-K. Barry Sharpless
Ca.umfl agmiliGleven
B:-Morten Meldal
CuwrrLer GlevL_ev
C:-Carolyn R Bertozzi
&Crmedler R QurGLmend

D:-All of the above
CoGev 2_6Ter energgLd
Correct Answer:- Option-D
Question53:-What is the theme of Kochi-Muziris Beinnale 20227
QarEél-pdliflev euemGe 2022 Gle b cremen?
A:-Possibilities for a Non-Alienated Life
SIBHIIDTSTS UTLDEHEDSSSTET FTES W BISET
B:-In Our Blood Flow Ink and Fire
CTRIGET @QTES el L Sl end womid CpmLL LTlidpg)
C:-In Your Veins Flow Ink and Fire
2 BIGET BIOL&6aN® eno woHmibd CB@mLL uridng
D:-In our Veins Flow Ink and Fire
BLogl BrbLsefley enw wHmid Cp@mLL uriSnsg)
Correct Answer:- Option-D

Question54:-PT Usha became the President of which sports organization in
December 20227

Gig 2 agm 2022 ggbufle erhg afleperim(h Senwliber SanealrmenT?

A:-Athletic Federation of India

@B SLs6T Fal LanloliL

B:-Sports Authority of India



@BSw efleperum’(h <),enewTiDd
C:-Indian Olympic Association
@BSWL elblds Fhisb
D:-Olympic Association in India
@pSlumeiler ealblls smhisLD
Correct Answer:- Option-C
Question55:-Tomb of Sand, a novel, won which of the following awards?
Tomb of Sand ¢ Breud, WemaumLd 6Ths all(Heng GleusTmg)?
A:-International Booker Prize 2022
sieuCge Lsay ufle 2022
B:-International Booker Prize 2021
sieuCge Lsay ufle 2021
C:-Booker Prize 2022
LU&sT ufle 2022
D:-JCB Prize for Literature 2022
@asswugdnsmear JCB Lifle 2022
Correct Answer:- Option-A

Question56:-Which of the following is correct with regard to India's first Metro
Railway?

@pdlumeier wpasd Gl Grr qulléd QerLfurs Werelmeuameumdled erg Fflwimeng ?
A:-New Delhi 1982
Lgl6Ldadl 1982

B:-Kolkata 1984
CamoagssT 1984

C:-Mumbai 1982
(pwenl 1982

D:-New Delhi 1967
LgI6Ldad 1967
Correct Answer:- Option-B
Question57:-When was Malayala Aikyavedi established?
epeowmer B&&EwuGeudl eriCung) Blmeuliul L g)?
A:-November 2009
peubLy 2009
B:-October 2010



916GLmuy 2010

C:-October 2009
<o15GLmuy 2009

D:-February 2009
Gidireufl 2009

Correct Answer:- Option-A
Question58:-Which of the following is true?
Yevreu(meueTeLm ey 6T 2 arentn?

A:-Email addresses are not case sensitive but email passwords are case
sensitive

Wemenehaed (psalflaser Caen GlFandll iqel iee U Lilaarehged sL o sFblgmnadr GCaev
ClFendlL iq 6
B:-Email addresses and email passwords are case sensitive
Wlemenehaed (PpsHealflaer wHmD LoleTarehge sLoysFbarpadr GCaev ClgemdlL iq el
C:-Email addresses and email passwords are not case sensitive
Wlear@ehFed (p&euflgeT HmD Llemarehae &L a|Foamhaer Caen el iqel =iee
D:-Email addresses and email passwords need special characters
lememehsad (P&HealflseT HmILD LleTarehge &L e sFbammsa@Ens@ Sy er(psgisear Csameu
Correct Answer:- Option-A
Question59:-What does Anthropocene refer to?
9 bSCrmCundern crenss GMIGHDGI?
A:-It is another name for anthropology.
@g wrayLalweder wHGpmmEm Guwif
B:-It refers to the study of human extinction.
Qs wafls <ifle) upHlu Limes GHSSDS

C:-lt is the current geological age in which human activity changes
environment.

eflg CFwuouThsear &OnF@GLeme LIHMIL SHCLTEMSW LeSludwid usb
D:-It is the name of a film by Hitchcock.
@8 abl_Fsrsdler e UL Sler Cluwy
Correct Answer:- Option-C
Question60:-From the following devices, which one is not a pointing device?
Yeeu(mLd FTHEmEISTD 6Tg &L lg&EETL_ (LD FTHEID e ?

A:-Mouse



DG GV

B:-Joystick
EDMUIGNIq &

C:-Digitizer Tablet
g eglenL_&F GLLiGlevi

D:-Light Pen
el GuieT
Correct Answer:- Option-C

Question61:-Process of reading data from permanent memory and writing it to
computer's main memory is called

Brbsr Bleneneusssedl(mhg Srenalll Ligsgl sanflatuler pasdlu Hlenaralsssled erpgiid
Qeweapann Smp&sLUiLI(helg)
A:-Saving the data
sreneus CaLlsse
B:-Loading the data
STeel GFDNISE
C:-Writing the data
STEN6U 6T(LDGISH6V
D:-Reading the data
STENEULI Lilg &&e6D
Correct Answer:- Option-B
Question62:-Identify the protocol primarily used for browsing data in Internet.
QeSS Fre|samer 2 re|eusnH@E (PSemeniTgl LwuaL(issUu(n Gphlapaneanu
SI®L_WITETLD HTETELD
A:-FTP
B:-TCP
C:-TFTP
D:-HTTP
Correct Answer:- Option-D
Question63:-Machine learning is a subset of
QuIBSIT SHOED eTaUg) b 6T @(H Sl anEE1p-
A:-Deep learning
DS SHDD

B:-Artificial Intelligence



CFwmHens miewTenT e

C:-Computer Vision
sl Lmyeney

D:-None of the above
CuGe ergla|b @erene
Correct Answer:- Option-B
Question64:-Choose the language which is best suited for data science:
s7e| < MlellwaisE@ Wse| b Cummssorear Guomflaws CoibosH&Es :
A:-PHP
B:-PASCAL
C:-R
D:-Ruby
Correct Answer:- Option-C

Question65:-Under the Sexual Harassment of Women at Workplace (Prevention,
Prohibition and Redressal) Act, 2013 "unorganised sector"” in relation to a workplace
means an enterprise owned by individuals or self-employed workers and engaged
in the production or sale of goods or providing service of any kind whatsoever, and
where the enterprise employs workers, the number of such workers is less than

vanfludl_gdled QueaTsEns@ huBbD Umellwue g nssed ($OUY, el wHmib Hlelfssdl)
gL b, 201 3ar BQ;IC_Q "Q(PBISMLOSGSILIL TS Glann" eTemig) e Liewtudl_SgiL e
QaT_LenLw SeflpuiseT g swesmflad Celiuyb Qgmdeomerise@nsa CambsLmer
Hmb CurmLsamer 2 HuSH g allhuemearuiled FhHLL(HeTeT HIMeIETD DS 6ThHS
auenswner Caenalanll eulpmilemTed wHmibd Binelarssld Qgmpleomerisemar
veanflwiisSlenme, iSsmsw Csmplorerisetien cramanilEms QsHE GMneUTs 2 6Terg|.

A:-20

B:-10

C:-25

D:-50

Correct Answer:- Option-B



Question66:-Under the Right to Information Act, the Chief Information
Commissioner and Information Commissioners of the Central Information
Commission shall be appointed by the President on the recommendation of a
committee consisting of

56U MWD 2 flend sl L gSler ae;@, LSS FHEUD DTS ET SENEENLDGE SEH6L6D
SLEETT LOHMILD SHEUGD Y,ENETUTEHET DL BISHW S $56U60 & (LD
ufipgienruien Cufled GlqWFsHs Seneeurre HluO&s ILHeUTTSET.

A:-The Prime Minister and the Council of Ministers
7SO HMILD HDDFEFTSHET &L

B:-The Prime Minister, the Chief Justice of India and a Cabinet Minister
rogF, @bdwrelen semaan b wHmID e Calkbar Siamwas)

C:-The Prime Minister, Leader of Opposition in the Lok Sabha and a Union
Cabinet Minister to be nominated by the Prime Minister
GrgF, asaTemel T8l f&5L g saaeuly wHmID LArswrme Lflbglenrssiul L
(I OGS DELDEFFTEMG DENLDFF]

D:-The Prime Minister, Leader of Opposition in the Rajya Sabha and a Union
Cabinet Minister to be nominated by the Prime Minister
Gy, rrawsuredld rdlissl g saeal] wHmib Wrswrme LfbgamrasuL L

Q(H LSS DMDFFTEE D NLDEFF

Correct Answer:- Option-C

Question67:-'Stipulated time limit' under the Kerala State Right to Service Act, 2012
means

Caryer wmilew Caaneu 2 flenog s L1b, 2012 Gler ip HlfenTuddEEILL L HTed GUFLDL| GTeTLIG

A:-The maximum time limit notified under section 3 to provide the service by
the designated officer or to dispose of an application for such service.

Bluslssiul L oglsmflumed Caeneuenil aulpBIs @G ASSMmeL CFamoudHdmen
amemriiusems LLpLLBSS, fley 3 G)er aeég; SIMlelGslILL L HFlsLLEF STed euUFLDL

B:-The minimum time limit notified under section 3 to provide the service by
the designated officer or to dispose of an application for such service.

Blutssiul L oflsrilwumd Caameuami aUlpmIs Dbegl ASFSnsW Caameussmer
ewranrliLgens SLLPULIHES, Wfley 3 Qe S @iMeldsliul L GmDhSULE ST
GUITLDL

C:-30 days from the date of application
cllarenTl 1968 Bretladlmbg 30 BTl gGer

D:-60 days from the date of application
cllarenTl 1968 Bretladlmbg 60 BTl gGer



Correct Answer:- Option-A

Question68:-The Chairman and every other Member of the Central Administrative
Tribunal shall be appointed by the President of India after consultation with

W Hljeurs Srlumugdler seneeu] LHMID WHD geubleur 2 nilifernmb Gbws
GG WT&HS HEHEOEITTE 2 L& 50BSTCorHES 19m@ Blwbl&és L (Heumyaer.
A:-The Prime Minister
Gy Lo
B:-The Vice President
SIMHETE SNV
C:-The Attorney General of India
@ndwralen oL yefl Geyerre
D:-The Chief Justice of India
Qi e hilugl
Correct Answer:- Option-D

Question69:-Under the Maintenance and Welfare of parents and Senior Citizens Act,
2007, the application for maintenance may be made

QuOHCTF LHMID (PSS Gl bdsaier LFToFliL LHHID Heod s ib, 20076 i
ugmofliy eSlesrawiium Qe emLD.
A:-By the Senior Citizen
PSS Gl LDSE (LpaLD
B:-By a Parent
QupGomymed
C:-An Organisation authorised in this behalf
Qg6 FTILITEG SRESHSSILIL L 6(1h S@LOLILITED
D:-All the above

CoGev 2_6Ter enemggLd

Correct Answer:- Option-D

Question70:-Who is presently the Chairperson of the National Human Rights
Commission, India?

sHCurensw @B Csslw wellg 2 flenser <y mamusHen Senealf wimy?
A:-Justice Ranganath Misra

BHUS phisETS Wevrm
B:-Justice Arun Kumar Mishra

BHUS oimer @Gy ey
C:-Justice H.L. Dattu



pugl H.L. 588
D:-Justice S.A. Bobde
BHud S.A. LG

Correct Answer:- Option-B

Question71:-In a furniture showroom, a chair for sale is marked with a label price at
25% discount on its printed price. In June, the showroom offers a 10% winter offer
on the label price. A customor bought the chair for Rs. 810. What is the printed
price of the chair?

QT o cLTeNFST Cagmepiled, ep(m BrHsmedl allhLmend:@ Diger SFSL L alleneuded
25% sarenLiguier Caolder allaneudad @Mlssliul (Herergl. sg9er wrgsHer, Cagpmenid
Cal9ler afleneoudier 10% @eflisme sayamsamut aUpBIGHDS. (M Gl &SNS ULITAT]
BrHsredlenwt em. 810&@; curmidlenry. proasTedluflen H&FL_LiLl L alleney creve?

A:-900

B:-1,200

C:-950

D:-1,250

Correct Answer:- Option-B

Question72:-Starting from a place A, Ramu walks 200m towards north then turns
towards right and walks 100m. After that he turns right and walks 80m, then turns
right and walks 50m. The current position of Ramu with respect to A is

@ @b, AlllemBg CGamimd rrip euL &g Crrédl 200 1S BLbg 9DE euag LSSD
Fmwa 100 S pLsdpry. oigern Un@E cuewg LSsD $mbld 80 W BLBSI, euag LIGSD
b 50 15 pLsdfpry. Ameuls Qurmsgseieny pripeder sHCLTmSW Hlane

A:-120m towards North East
L Slpd@ Corédl 120 1S

B:-120m towards South West
QgeGun@ Crrésl 120 1S

C:-130m towards North East
auLSlpd@ Corsdl 130 1S

D:-130m towards South West
QgeanGneE GCrrésl 130 1S

Correct Answer:- Option-C

Question73:-The value of 5+ s+ mimmintvistas IS -



Tt At Es -t ta-en Sl

A:-—

B:-1

C:-2

D:--2

Correct Answer:- Option-D
Question74:-Find the odd among the following :
Yereumeusmeupdled QUMBBESTSMSS ST Hlia :

A:-TUNISIA

B:-SENEGAL

C:-DENMARK

D:-NAIROBI

Correct Answer:- Option-D

Question75:-If ezt 2C®™ _ o 5o, then the value of x is

(0_125)2:r74><(0425)2:+1
21‘

—(0.5)55+? GTEUTIGL X-60T LOSILIL
A:-.5

B:-1

C:-2

D:-3

Correct Answer:- Option-C

Question76:-A clock loses 30 seconds in each hour. If the clock is set right time at
12 noon on Sunday, what angle will the hour needle and minute needle make each
other at midnight on the same day?

Q@ SlgHMID eeubleumm wewtl Crrsdlain 30 ellammgsamer QL&HMFI. @HmuilnHmisspenio
wHwb 12 warfllEe sgamrn sflurar Crrsdled samwssliulLrd, HCs prefle
weretizedled enflCrr 2ardluyb Bl sarfluybd gerenmGlumearm 6hs Camantsans
2 (HEUMG@LD?

A:-36°

B:-33°

C:-30°

D:-72°

Correct Answer:- Option-B

Question77:-Let p and g be two positive integers. The HCF of p and g is 16 and the
LCM of p and q is 143 times HCF of p and q. If one number lies between 100 and
200, then the sum of the digits of the other number is



p wHmid q Grer® CrIweD (PP crammsaTTs @S (Hb. P LHMILD q @eir L5.Cur.eal. 16
LOMmID P LOHmID q Ger LS.8.10. erg p wHmD q Qe B.Cum.el.efler 143 WL ki@ <ELb.
e erewor 100 wpmib 200 &@ QlenLuller @)(mBESTeD, MM cTameamt 6 @)e&smige e
gl (H50gTens

A:-5

B:-10

C:-12

D:-14

Correct Answer:- Option-B

Question78:-Select the related letters which replace the question mark from the
given alternatives.
FJM : HFS; DKN:?

CarhsstulL wrpnseaild @ mbg Cadralls@Mlenw wrHmb G FLenL
T(PSGIEHMeTS CHIH0 S [HESHE|LD.
FJM : HFS; DKN:?

A:-FGT

B:-FDS

C:-FHS

D:-FFT

Correct Answer:- Option-A

Question79:-Malala has twice as many brothers as she has sisters. The number of
sisters of Majeed, brother of Malala, is one less than the number of brothers he has.
The number of sisters of Malala is

eorere|sE FCaTsismer eSlL @ rewr(h LG FCHTHITHET 2 6TeraT. Lemamedlsn
#Cargry wasder sCangiaafien erameantsams ieuHEE Q) HSEL sCaTSTia6fe
crantenfldanasani L getn Gmne]. eoreoraler sGCargflaatier crememtsams

A:-3

B:-4

C:-5

D:-6

Correct Answer:- Option-A

Question80:-A right circular cone is cut with a plane parallel to its base into a small
cone and a frustum having their heights in the ratio 2 : 1. Then the ratio of the
volume of small cone to the volume of frustum is

Q(H UG @l L& SaldL| SF6m gL ILGSHES Qenentiins e Pl salburge|b, 2 @ 1
crarm elFlgsSled eumdlen 2 wnmismers Gamear e frustum <y e



CeulLiu(p&lmgl. Werery Pl salby SHer Djere| wHmD frustum ser ojerey dldlsLd
A:-19 : 8
B:-8 : 27
C:-27:8
D:-8 : 19
Correct Answer:- Option-D

Question81:-Fill up with suitable preposition
It is fruitless to lament our tragedies.

A:-On

B:-Over

C:-Through

D:-With

Correct Answer:- Option-B

Question82:-Correct the sentence.
| (complete) my homework before my parents arrived.

A:-Completed
B:-Have completed
C:-Had completed
D:-Have been completed
Correct Answer:- Option-C
Question83:- He was lucky  before the accident.
A:-saving
B:-to have saved
C:-to save
D:-to have been saved
Correct Answer:- Option-D
Question84:-Sureshis _ (skillful) in this work than his friend Karthik.
A:-More skillful
B:-has skillful
C:-most skillful
D:-has been skillful
Correct Answer:- Option-A

Question85:-Add suitable question tag.
She barely spoke to Ramesh during the lunchtime, ?

A:-will she?
B:-did she?



C:-didn't she
D:-doesn't she?
Correct Answer:- Option-B
Question86:-They know him. (Change into passive form)
A:-He was known to them.
B:-He is known to them.
C:-He has been known to them.
D:-He had been known to them.
Correct Answer:- Option-B
Question87:-The word that is the synonym of 'prudent'is
A:-dispel
B:-discredit
C:-discreet
D:-distinct
Correct Answer:- Option-C
Question88:-The word that is the antonym of 'acquit'is
A:-condemn
B:-conceal
C:-concur
D:-confabulate
Correct Answer:- Option-A
Question89:-Find out the correctly spelt word
A:-Enterpreneur
B:-Entrepreneur
C:-Enterprenure
D:-Entrepreneaur
Correct Answer:- Option-B

Question90:-Provide one-word substitute for the following.
One who is regaining his health after an illness

A:-Cosmopolitan
B:-Connoisseur

C:-Cynic

D:-Convalescent

Correct Answer:- Option-D

Question91:-'gn' erenid T(pss e G o arfsgib Clummer



A-flpissl

B:-Qeuerenio

C:-erdliiiy

D:-2 18psed

Correct Answer:- Option-B

Question92:-sflwumen erdliF Qempamens &L (Hs
A:-usl (hH X ereflenio
B:-@aflwu X ojpdlu
Ci-aumienin X y,reumyLd

D:-Quipens X Lgieno
Correct Answer:- Option-A

Question93:-Csrm + Lnenar - CaTEFI eT(PGIS
A:-CammLimene
B:-Caml_uimenesr
C:-Cempumene

D:-GampmiciLimeneo

Correct Answer:- Option-D
Question94:-yarLimened GHDS@GLD GlFme

A:-Qupomiig

B:-Quflwer

C:-2 g5 e

D:-Limig 6ol

Correct Answer:- Option-C
Question95:-19M5g) eT(LpgIs - imis 6T

A:- + setor

B:-90 + sevor



C:-21b5 + et
D:-oimi@ + geoor
Correct Answer:- Option-B
Question96:-'LmeusCe LudlF Qal’ eremend LIPGEILTY 2 aTFSgID ClLmmeT
A:-Limeu euwlGev Ll Cgmdled GlFuis
B:-Sdlw cuwidlemny uudlis Qsmdled QEliuissen mg)
C:-u@meuwanL_hg Cueamsear LuFs6gT e Cguiis

D:-2 flu srewgdle erhss CFuameu|b ClFuis
Correct Answer:- Option-D

Question97:-gmeno Lisenld FFlwng 2 drer CsmLenrs sem(hlly&s
A-@ibSlw jewtl Guimiquiléd Cleuemmeny
B:-@ Sl sjewtl Cumiqulled Glousmmmiser
C:-@pdlwsientl Cumiguiled Cleusrmg
D:-@bHw jewtl Gumiguile Cleuermenr
Correct Answer:- Option-C

Question98:-'Gaulpd' eremm GamerGeor( CUTBHESTS UTTSNS 6T5)?
A:-Gougld
B:-epridled
C:-Quilw wrener
D:-gmibL
Correct Answer:- Option-A

Question99:-Sp&aarTL_cuDmIeT 678! (Lpemwimen GGTL iy
A:-g 5l LeTUTL 146 5155 euTenlp @)anevd @, @)L (et (h
B:-s0p7 cumenlp @enas@L LU _iq b Sai$s @ (e (h
Ci-gulipf LU g6 aumenip QavasEs sallss GL(pa®

D:-g0p7 eumenlp LT iqed Seflgs @Qenas @ @)L (peut(h



Correct Answer:- Option-C
Question100:-Spsaramid GgTLfled sflwrear Gerdene @6 HlirliLs

ST 1g 60 L|eOlenlid SemTL SEHTenTe Ledle) gHUL L g).
A:-z.0
B:-dlafl
C:-gll

D:-&He

Correct Answer:- Option-D



